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368 2 368 3

1. Define the term ‘Balanced Diet’. Explain the role of  Jur 7 w 7 mﬁ T S—— 3
Balanced Diet for maintenance of good health. @iﬁ -

Fafera R & uRr v 1 s R & T wglea em
# w1 T AR 6. Write in detail about the Evolution of Gym Culture. (10)

A Epl & e @ R ¥ AERgEE 56w |

|
2. Explain the concept and causes of obesity. Write about tl-

obesity related health problems. (4+6: o
7. What are the principle of establishing a Gym ? (10)

T E FEUROT d FHRUN T Ieoikd Y | A F et @
e & EREE e =

AWETAT S T & Rgeg Far # 7

?

. What are the safety measures to be adopted for prevention

3. Discuss the role of behavior modification for weigh .
of injuries in a gym ? (10)

management. (10
AR H WS ¥ w B foy B wen Swmt = e

YR e ¥ el guR @ SRR @ e | 7

4. What do you understand by ‘Stress’ ? Explain the comma

s i At B+ Write short notes on any TWO of the following :  (5+35)

T ¥ @ SR 2 ? T W SR R A T H A R W AR e R

w | (a) Osteoporosis

5. Elaborate how stress can be managed through Yoga an' e o
Meditation. (5+5

= Pl
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(b) Anorexia Nervosa
TARTEEEr EE

(c) Relaxation Techniques
fafreran e

(d) Qualities of Gym Instructors

ST WREER @ 100

'This question paper contains 6 printed pages.]
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this question paper.

Question No. 1 is compulsory.

Attempt any four questions from Question No. 2 to 7,
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II and III.

Give full explanation for each question.
Marks are indicated against gach question.

Use of Simple Calculator is allowed.

Short answers with proper justification are expected in all
the five parts of this question. Each part is of 3 marks.
(3x5=15)
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362 3
(i) Match the following : | SECTION I
Distribution (Mean, Variance)
. . 2. In a certain factory turning out razor blades, there is a
Binomial 0, 1) Lo .
_ - small chance of 0.002 for any blades to be defective. The
._woamos (1, o) blades are supplied in packets of 10, use Poisson distribution
Normal (np, npq) to calculate the approximate numbers of packets containing
Standard normal (A, 2) 3 no defective, one defective and at least two defective blades
~ ( ) - respectively in a consignment of 10000 packets.
c, 1L .
(1, 0) (Given that €%2=0.980, 292=1,020) (10)
(i) Find the fallacy. 3. Over a long period of time, it has been observed that a

. o . _ professional basketball player can make a free throw on a
“The mean of binomial distribution is 3 and variance i

5 given trial with probability equal to 0.8. Suppose that he

W shoots woza free throws.

iii) Write the important properties of normal distributior . ) -
) P prop (i) What is the probability that he will make exactly two

(iv) If X is the number of points rolled with the balance free throws ?

die, find the expected value of " . . .
(i) What is the probability that he will make at least one

g(X) = X2+1. free throw ? (10)

(v) In a random sample, 136 of 400 persons given a fl SECTION II

vaccine experienced some discomfort. Construct ¥

‘ .
95% confidence interval for the true proportion (4

g . . [ The marks obtained in a certain examination follow the normal
persons who will experience some discomfort from t T

distribyt; : ..
I - ution with mean 45 and standard deviation 10. If 1000

- ; - P.T.O.
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students appeared at examination, calculate the number of

students scoring ;
(1) less than 40 marks
(1) more than 60 marks

(iii) between 40 and 50 marks

(10)

Find the area under the stand

(i) to the left of z = 0.94

(i) to the right of z = -0.65

(i) to the right of 7 = 1356

(iv) to the left of z = —0.85

(v) between z = (.87 and z= 1.28

SECTION 111

"y

The following random samples are measurements of the,

heights of adult females born in two different countries :

n, =120 % =027

n,=150

’

X,=61.8 5,=2.62

(10)

s, =2.50 f

ard normal curve which ligg

T

. .—

les 1s
_ f these two samp

: tween the means o

difference be

‘significant.

B Log =
(10)

=42.58, Z,o: =1
(Given that Nc.au&ﬁ.om, Zy o 0.05
2.33)

The height of 10 adult males selected at wmmao:,.wwwpwww
i locality had a mean 158 cms and variance - w
iy ‘at 5% level of significance, the hypothesis that
M“”%Mwﬁﬁﬂam of the given Homm:Q are on the average less

than 162.5 cm tall.

(Given: tyes g = 1.860, ty 65 0= 1.833, tgos 9=
= _1.860).

—1.833, t5 5.3
(10)

. B L X
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This table presents the area between the mean and the Z score . When Z=1.96, the shaded
arca 1s 0 4750

Areas Under the Standard Normal Curve
Z 0,00 0.01 0.02 0.03 0.04 005 0.06 0.07 0.8 0.09

00 00000 0.0040 0.0080 0.0120 0.0160 0.0199 0.0239 0.0279 0.0319 0.035

0.1 0398 0438 0478 0517 0557 0596 .0636 .0675 074 .0753
0.2 0793 0832 0871 0910 0948 0987 .1026 .l1064 .| 103 1141
0.3 nm 1217 1255 1293 1331 1368 .1406 .1443 .|430 13517
0.4 A554 1591 1628 1664 1700 1736 1772 1808 .[344 1879

S 4915 1950 1985 2019 2054 2088 .2123 2157 2190 214
6 2257 1291 2324 2357 2389 2422 2454 2486 2517 2549
¥ 2580 2611 2642 2673 2704 2734 2764 2794 2823 2892
8 2881 2910 2939 2967 2995 3023 3051 3078 3106 3133
Y 3159 386 3212 3238 3264 3239 3315 3340 3365 .13g9

0 3413 3438 Ja61 3485 3508 3531 3534 35T 3599 3621
: 3643 3665 3686 3708 3729 3749 3770 3790 3810 383G
a 3849 3869 JBB8 3907  )925 1944 3962 (3980 .3997 4015
3 4032 4049 4066 4082 4099 4115 4131 4147 4162 4IT7
4 192 9207 4221 4236 4251 4265 4279 4292 4306 4319

| 43in 4345 4357 4370 4382 4394 4406 4418 4429 J444)
16 53 4a6] 4474 4484 4495 4505 4515 4525 4535 4545
|7 4554 4564 4573 4582 4591 4599 4608 4616 4625 4633
1.8 1641 4649 4836 4664 4671 4678 4686 4691 4899 4706
19 4713 4719 4726 4732 4733 4744 .Smo 4756 4761 4787
2.0 3772 4778 4783 4788 4793 4798 4803 4808 4817 4817
21 4821 4826  4BI0 4834 4838 4B42 4846 4850 4854 4857
2.3 4361 4864 4863 4871 4875 4878 4881 4384  4BBT 4890
2 4891 4896 4B98 4901 4904 4906 .4909 4911 4913 4916

4 4918 4920 4922 4925 4927 4929 4931 4932 4934 4936

ol 4938 4940 4941 4943 4945 4946 4948 4949 495] 6952
2.6 4953 4955 4956 4957 4959 4560 4961 4962 4963 4964
2.7 4965 4966 4967 4968 4969 4970 4971 4972 4973 4974
2.8 4974 4975 4976 4977 91T 4978 4979 4979 4080  .498)
b} 4981 4982 4982 4981 4984 4984 4985 4985 4986 .4086
30 4987 4987 4987 4983 4988 4989 4989 4989 4990 4990
31 4990 4991 4991 4991 4892 4992 4992 4992 4993 4593
g2 4993 4993 4994 4994 4994 4994 4994 4995 4995 4995
33 4995 4995 4995 4996 4996 4996 4996 4996 4996 4997
A 4997 4997 4997 4997 4997 4997 4997 4997 4997 4998

36 4998 4998 4999 4999 4999 4999 4999 4999 4999 4999
3:9 .5000

Surte  Adapied by permission from Staruical Methods by George W, Snedevor and William G. Cochran, sizth edition
@ 1967 by The lows Sue Univernty Press, Ames, lowa, p 43

fann\

Q_'
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Instructions for Candidates :

(a) Write your Roll No. on the top immediately
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. Roll No.
5671
T - S. No. of Question Paper : 328

8. : .

MWM%HME me various approaches to justice in Unique Paper Code 234657 G

1€t and post-conflict situat;
: uations, 1y . .
with examples and case studies SRS Name of'the Paper Information Security
R ol Soe Rt Rafelt 3 = & R
i A 2 iscipli CA-3B
. Name of the Course B.A. Prog. Discipline Course (CA-3B)

TH B T Y | Samagor P AR aoi 3|
0. . )

WxMHoH,m the relationship between non-violence : iy Semetr o

nd reconciliati e o
through SOHQMMHMHN - MOMODOLHNQOD possible Duration : 3 Hours Maximum Marks : 45
: ans & Support your a _ .

with case studi nswer

Q#W.Aﬂ Oﬂrﬁ. des. (Write vour Roll No. on the top immediately on receipt of this question paper.)

g v [ 2 Eﬁﬂﬁﬂmﬁﬂﬂfﬂ |

et 3 AT S| ? The paper has two sections.
ey o7 THT & 7 ISTeY0rT pape
ST B Ay 3y |
i . i i ion ‘A’ are compulsory.
10. All questions in Section
’ dwmwu short notes on any two of the following

; S‘Oﬂmwv : 3 Attempt any three questions from Section ‘B’

Parts of a question must be answered together.

m_m_:u_w;ﬂ@@az @ Rt & o 250 s=5 § e

T B g wffy
(b) Good Friday Agreement

Section ‘A’

(3]

L (@) Define the terms exploit and exposure.

(b)) © What are Risk assessment and Risk control ? 2

(¢)  Define Steganography. 2

TS WSS Gueiar
n - . - -
(c) Truth and Reconciliation Commiss;i (d) What is the value of information security for an
sion .
Q . m . : organization ? .
(d) Principled Negotiation .
P.TO.

q=iftes gy
. 300




(e)

(@)

(b)

(@)

(b)

(a)

)

( 2 ) 328

What are determining conditions for penalties associated
with laws and policies ? , 3
What is m.nnamm control ? Describe its different
mwnqomosmm. . 4
Section ‘B’
Describe any five components of an information
system. | 5
<<_:_= is C.LLA. triangle with respect to information
security ? mv.:v_mm: characteristics of information on
which C.LA. triangle is based. 5
What do you understand .by threat ? Explain any four
types of threats come under forces of nature. 5
How can deviations in quality of service affect the
availability of information and system ? 5
Explain how cultural differences can make it difficult to
determine what is and is not ethical when it comes to
the use of computer. , 5
How a defender know yourself and know the enemy

to protect an organization when many threats are

L]
constantly attacking ? 5

328

4 « 3 ) 328

(a) Differentiate between trusted network and untrusted
network. How do packet-filtering farewell and dynamic
packet-filtering firewall work ? 5

(b)) What is Cryptography ? Differentiate between Symmetric
and >m_<3=.=.win cryptography. 5

Write short notes on any five : 10

(@) Digital certificate

(b) _ Worms

(¢) ~ Criminal law -

(d) Civil law

(@ <=_=m_,mc=._Q_

H Virus

(g)  Utility.
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This question paper has six questions in all.

Attempt any fwo parts from each questioln. '

4

All questions are compulsory.
_U‘se of scientific calculator - is éllowed.

Candidate can ask for log/statistical table.

4

1. (@ () Perform three iterations by Bisection method
to obtain the smallest positive root of the

v equation :

P .- ' )= —x - 4= 0:
P.TO.
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(6

©

(@)

( 2 ) 347 ;
(i) If a root of fix) = 0 lies in the interval (a, b),
then what is minimum number of iterations - ..n.

)

required when the permissible error is ¢. 6

A real root of the equation :

) =x-5x+1=0, 3 &

lies in the interval (0, 1). Perform four iterations of

Secant method to obtain this root. 6

Perform five iterations by Newton-Raphson method to

find the root of N”, where N = 17. Take initial ap- (p 9

proximation x, = 3. . 6

Consider the system of equations

1 —allx b
—a 1 [|x by _
_
where a is a real constant. For which values of g the ¥  3¥
Gauss-Seidel method converges. 6 :

"

()

©

Solve the following system of equations :
2+ x, +x —2x =-10
dxceki0x + 2x, + x.= 8
3, * 2, +.2x, +0x; = 7
Xy 3%+ x> Xp= =8
Using the Gauss-elimination Bmﬁwo,n_ with partial-

pivoting. 6

For the following system of equations :

Iua_ + 2, + Em -2

Il
(=]

2 3%, * X

3

oa_+mamiukn|_

()  Show that Jacobi iteration scheme converges.

(#) Starting with X°

I

[0, 0, O], iterate three

times. _ 6

PILL

.



(@)

(5)

(e)

(@)

( 4 ) 347

Find the unique polynomial of degree 2 or less such

that
A1) =1, i3) = 27, f4) = 64,
using Lagrange interpolating formula. Estimate f{2). 6%
For the following data :
A0) = 1, A1) = 14, A7) = 15, S
(b)
J4) = 5, £5) = 6, fig) = 19
Obtain the polynomial using Newton divided difference
interpolation. Estimate £{3). 64
If
fx) = U, .
find the divided difference M By % 2] 6%
Calculate the coefficient of correlation from the
following observations : _ 6
X Y
252 550 ¥ L
249 610

247 730
242 870
1.69 880
343 930
472 400

Determine the line of regression of Y on X for the

6

following data :
X Y

65 _ 67

67 65

67 68

P.T.CO.



(¢)  Let the pmf p(x) be positive at x = =1, 0, 1 and zero

elsewhere. If

J
o I
! p0) = 1 and if E(X) = 7
determine p(-1) and p(l). "6
5. (@ Let X have the pdf pr
I
.AHVHIM.HA.«.AE, /
X :
© (o)
zero elsewhere. Show that E(X) does not exist. 64 oy
(6) Let X be a random variable such that
E[(X - b)] 3 »

exists for all real 5. Show that

E[(X - 5)7]
is minimum when 5 = E(X). 6% : 2
() Determine the mode of normal distribution. 6%

In a book of 520 pages, 390 typo-graphical errors occur,

347
Assuming Poisson law for the number of €ITor per page,

347
S T S
find the probability that a random sample of pages will

contain no error.
64
(Given, ™ = 0.473).

If X is a normal variate with mean 30 and S.D. 5. Find
the probabilities that : 62
(H 26< X <40

(i) X = 45. 6%
Determine the moment generating function of Binomial

. 62
distribution. _
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5623 2

What is New Agricultural Strategy 2 What have been the,

social and economic consequences of the Green Revolution

in Indian agriculture sector ? (5,10)

% P WY (New Agricultural Strategy) =1 2 ? Wlm iy
&= ¥ #Ra Wi (Green Revolution) & w1 wmmfes 7 anffe
gRomE ® & 7 |

b

Describe the institutional sources of agriculture credit in
India. Has the institutional agricultural credit succeeded in
replacing the non-institutional sources of agricultural credit ?

Comment. {7.5.7.5)

Rd ¥ H ar (agriculture credit) = eaWT (institutional) S
A A | I Y, W wra B W derwra A
F O A A AHS @ F 7 fRwed =i |

What do you mean by land reforms ? Is land reform
necessary to improve agricultural productivity ? Explain.
(7.5,7.5)

%%&@%ﬂaﬂwwwﬁ%%aﬂaﬂ%w@
| guUR smawe ® 7 awensy |

Critically examine the main features of the New Industrial

Policy implemented in 1991. F (15)

5623 3 3

J i

5.

i

1991 ¥ TR & TE TE FAE AT B W AN H AR
qdemr g |

Explain the role played by the public sector in the Indian

economic development. Would recommend disinvestment in

the Indian public sector ? Elaborate. (7:5,1.5)

R o fem ¥ wdete 87 e e T s =t
THATSY | 1 39 ¥R aeaEs 8 ¥ ARy & feRa =@ ?

.mﬂmﬁﬁ%@f :

.

What do understand mw small scale and cottage industries in
India ? What steps have been undertaken by the government
to improve the conditions of the small scale and cottage

industries ? Explain. (7.5,7.5)

WRA A WY 9 H(ER AN ¥ AT W OWEN F 7 WER BN Y
9 HER FA @ Ry G B T Few IoW M0 2 7wy |

Explain the role of foreign capital in economic development.
Examine the policy of Government of India towards foreign

capital.. (7.5,7.5)

S e ¥ PR O A s @y | R e A ok
ﬁmmﬁz%%mﬂq@mﬂ&@d_

P.1.O.
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- R

i
(o8
g

Differentiate Balance of Trade and Balance of Payments

Elaborate the reasons for adverse Balance of Payments

situation in India. (7:5,7:5)

MR e 9 A gged & e IR W FIeW | NRE
A WEE o # Aide fufd @ wrol @ w9 fRew
HifoTw |

(3500)
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Explain the factors of low agricultural productivity in Indian
agriculture sector. Suggest the measures to improve the

productivity. (10,5)

ﬂﬂ%ﬁ%wﬂw%mﬂﬂ.ﬂ%mﬂi (factors) &
FHAEY | JUEHAT H GURA 8¢ ST FAY |

Elaborate the land reform measures undertaken by

Indian government after independence. Examine the causes

of unsatisfactory progress of land reforms in India.
(7.5,7.5)

HRE WER R SEa=aal & g HF guN 2 Io¢ Y wEH
ﬂmﬂmﬁﬁ&@n_ﬁmﬂﬂ%%%%
® FHROT A IALT AT |

What are the main features of Green Revolution ?
Explain the economic and social effects of Green Revolution

in India. (.3, 3]

&R I (Green Revolution) & Wi @& &R 8 7 WRA # BRa
wFT B e T wEfors W ol HHEEY |

Examine the performance of Industrial Sector in India. Whrst

are the main features of the Industrial policy in India since
1991 ? (5. 7.5)

1\

562

¥

4 3

T ¥ et & & Fee (performance) T T HirY |
doo_wﬂmﬂmﬂ%@m@.%%ﬁﬁmmﬂﬂww

Discuss the problems of Small Scale Industries in India.

Critically analyze the government policy for the Small Scale

Industries in India. (5,10)

iwﬂ%%ﬁﬁ&ﬁmﬁa&%_ﬁmﬁm%
3g W@ AR AT oo T |

Examine the composition and direction of foreign trade
in India since 1991. Explain the foreign trade policies in

India. (3.5.7.5)

091 ¥ WRE ¥ FRW wmR @ ¥ (composition) T femm
(direetion) T WUEOT A | I ¥ fRf =mr AfE ==

THARY |

Write short notes on.(Any Two) :

(i) Foreign Direct Investment in India (7:3)
| (i) Privatization in Indian Economy (7.5)
(iii) Foreign Trade Policies in India (7.3)

P.T .0
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(Write your Roll No. onthe top immediately on receipt of this question paper.)

Attempt A/l questions.

. Answer any five questions in about 30-50 words each

5x2=10

()  Why is the final photograph of the mother important

to the sons ? -

(if) According fo Dinesh Kumar, what is the sole objective

of the young, unthinking generation ?

(iify Why does the speaker call Kedia ‘a consummate

consumer’ " ?

P.T.O.
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v)

(vi)

(vii)

5581
What- advice does the writer give to the student
examinees to manage time while writing the
examination ?

According to Irawati Karve, how is Krishna depicted

in the Mahabharata ?

Why do you think Maniben is sympathetic to the

Muslim man on the television set ?

Who is Bharati ? Why is she being assaulted and by

whom ?

Answer any fwo questions in about 75-100 words each :

0]

(i)

(iii)

2x5=10

What characteristics in Roop Singh make him ‘The

_ Leader of Men® ? Critically examine the appropriateness

* of the title.

How is the television set used as a metaphor to expose

the perpetrators of communal violence ?

What impressions of the sons do syou form from the

way the mothér has led her life ?

5581

(iv) . What does Bharati represent for the other women-
Mandira, Kajol. Kuri and the Grandmother in the play

‘Her Name is Bharati® ?

Read the passage given below and answer the questions that
follow : 5x2=10
When Sachin Tendulkar came out on to the field at the Eden
Gardens for his penultimate Test to a mighty roar from the
crowd, a minor statistic was missed by many. Tendulkar was

only the second player to represent India in Tests after

tuming 40 (he was 40 years and 197 days old that day). The

only other player to have achieved this feat was Mulvantrai
Himmatlal Mankad, known to the world by his school
nickname Vinoo. Mankad was 41 years and 298 days old

when he played his last Test, beginning 6 February 1959,

also against the West Indies.

Vinoo Mankad is almost forgotten today, but when he passed

away in 1978, in its obituary, the Wisden magazine called him

P.T.O.
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“one of the greatest all-rounders that India has ever
produced”, and mm:ma that “for m_o_ﬂm years he was
undoubtedly the best bowler of hijs type in the world”, He
is also the only Indian cricketer to have a Test named after
him—the 1952 Lorg’s Test against England is referred to as
Mankad's Test. even though India lost. His opening
partnership of 413 with Pankaj Roy in 1956 remained a world
record for 52 years, and his 231 in that innings stayed the
highest score by an Indian in a Test .:._E_n: for nearly three
decades. His 23] had broken his own previous record of the
highest Test score by an Indian : 184 at Madras in 1952
when India beat England to achieve ijis first-ever Test victory.

It was almost entirely Mankad"s doing, as he claimed eight

for 55 and four for 53 in the two innings,
Questions :
(i) Which minor detail was H_:_.mmwa by many ?

(i) When and against whom did Vinoo Mankad play his

last Test maich ?

) - 5581

QS_ Which Test is named after Mankad ?

: b L i
(iv)  When did India achieve its first ever Test victory
against whom ?
Find words from the passage which mean the
following :

last but one, powerful

i i hose
Fill in the blanks with the correct option chosen from tl

10
given in brackets :
i his
Manu shook his Fead in disbelief ..., (at/on)
3 i o (logic/
wifels wiles, *Look, Sejal’ ‘he @ied 10 ...covntisessninrvennss, (O

. i on a
reason) with her, ‘I told you that we would go

(honeymoon/honeycomb) as soon as | can afford

Ciesvevinsss QUK

*He calls her Bibijaan. Every Thursday afternoon, she ...............

(made/makes) sheer kurma. And she doesn’t give me .........
(some/any).’

*You mean va,m_ R
“Yes.’

P.T.O.



( 6 ) 5581
B it ..... (vanquished/triumphant) Sejal hefted her
bag and leaned more assuredly ...........c...coeeurennene, (against/from)
Em railing. ‘m:m cemrerereeeessnineneennnnes. (KNew/had known) she

had her husband’s .................c............  (attendance/attention)

- now,

(@)  Fill in the blanks with the correct option chosen from

those given in brackets : : 5

() Raju was afraid his father .........ccooovvveeriinnnnnn.

(would/wouldn’t) be angry on seeing his

result.

()~ Govssoes Brsmvisns Aﬁmz\moc_.& anyone lift this
boulder ?

(iif) Rakesh asked the teacher “........... o (May/

Might) | go and practice basket ball

(iv) Reenu is very ill. She .........ccc...... (should/must)

go to a specialist.

(v) [Ifyou yvant to make a......... veetviiennn (Carrier/career)

you have to work hard.

6.

g

(.7 ) , 5581

(b) Complete the following sentences using appropriate

determiners and quantifiers chosen from the list given

below - 5

anyone/ a lot of /something/anything/none

(i) Perhaps there is ... wrong with the car,
take it to the mechanic.

(i) Did you meet .........ee YOU knew at the
conference ?

(iif) We ﬁ.oo_... oo food for the school picnic.

(iv) coereenne OF the parcels have arrived yet.

(v) I couldn’t think of ...... Sherbmae else to buy for _ﬁ_q

birthday so | bought a book.
(¢)  Write antonyms (opposites) of the following words : 5
busy, familiar, sad, barren, active .

Your friend invites you to attend his/her brother’s wedding
next week. You cannot attend the wedding as your semester
examination is going to start very soon. Write a short dialogue
,_uw.s.mm: you and your friend. Write five turns for each one

of you. 10

P.T.0.
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7 Write an essay of about 200 words on any one of the topics
given below : , 10 A §[This question paper contains 4 printed pages]
Ah.._v Iﬂm—_ﬂ_..— nﬂovmm—.ﬁ_m mz _BQmm 40:" NOMH z.o._ a-..aoo.oot-.o.-c-o-o.--o
Sl. No. of Q. Paper : 5641 G

(b) The benefits of the Internet

. Unique Paper Code 1231652
(@ A visit to a hill station. :

Name of the Course : B.A. (Programme)
 Name of the Subject o History "
Name of the Paper : Issues in World History
. : The 20* Century
Semester | : VI
Time : 3 Hours Maximum Marks : 75

Instructions for Candidates :

i »  (a) Write your Roll No. on the top MEEm&mnm@
on receipt of this question paper.
mﬁnﬁ;ﬁ%ﬂﬂ%ﬁ@.ﬂ%ﬁﬂmﬂ
T o) o |

(b) Answer may be written either in English
or in Hindi; but the same medium should
- be used throughout the paper.

$H 9-UF H JuX SHUSh a1 R e of
: ﬂﬂ,ﬁﬁqﬂ%ﬂ%ﬁaﬂ%ﬁm%ﬁg
: MR AR i Sy

P.T.O

5581 8 '6.700




5641

(c) Attempt any Five questions.
g di ust 3 Sux @R

(d) All questions carry equal marks..
a4t gsf F ofw AT ¥

Explain the situation of international politics
after second world war.

fecia favags & gvarg oSty aomifees fafy
P AT HIRT | |

Discuss the Non-Aligned Movement (NAM) as
a third force in international politics after
second world war.

fadia fisags & gy orarisia TR Refy
g ded o $ w1 § -y ereeE @
Ew_ﬂﬂq,my.@w_

Evaluate the role of Mahatma Gandhi in the
Indian National Movement.

ARG TSI STRle™ § e e S wftvenr H
qodih e |

How far do you agree with the view that
globalization is an extension of the imperialism ?

Y e 91 o9 39 599 @ weua & % S

AHEEYEE 8 R 7

2

5.

5641

Assess the rise and growth of the Human
Rights Movement.
3ife hiTeTy |

Write a note on the Feminist Movements in
independent India.

e W § o e W O e
RReg | .

Discuss the issues involved in the Ecological

movements.

qafaelin srdeET & Fftd gt @ aren HiE |

How has consumerism influenced the human

values in the developing world ?

frprasher fea # Suwiem@EE S AFE ged @
fope geet aeTfaa fRar B 7

How the changes in the sphere of the media
has shaped contemporary culture and society ?

ffEar & &= § gL IRac 7 g aepia o
AT @ e U v e 7 7

3 S 98
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10.Write short notes on any two of the following :

Freffefae & & 351 & v dftr feaol Rrfan -

(a) Coloniali [This question paper contains 4 printed pages]
olonialism

Iufrasrae Your Roll No. TR .
() o ekl Wiy Sl. No. of Q. Paper : 5642 G
(c) WDHWMMQF . Unique Paper Code 1 2316562

EEICIE] Name of the Course : B.A. Programme
(d) Cyber space Zmrdm. of the Subject : History

SIS S Name of the Paper : Issues in World History
(e) Credit cards . : The 20" Century

e H Semester ¥ NI

Time : 3 Hours Maximum Marks : 75

Instructions for Candidates :
(a) Write your Roll No. on the top immediately
on receipt of this question paper.
TH 99-55 b O BN O% g SN 9% ST9AT
(b) Answer may be written either in English
_or in Hindi; but the same medium should
: : be used throughout the paper.
IH UST-UF N ITY SN I 2=y ey o
4 2800 T A § AR, AR el e um &
¥ 89 =iy |

BT,
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(c) Attempt any Five questions.
fp=el drer 999t & Iax aftm

(d) All questions carry equal marks.
THl g9 & of guT ¥

Write an essay on the causes of cold war.

AT F& & FROT X oF Py i |

How far was the Non-Aligned Movement a
deterrent against Imperialism ?

Te-Foe aTRies amnTee B Rew By s
T Th AP o7 ?

Throw some light on National Liberation
Movements after second world war.

W%ﬁ@»ﬁ%aﬁﬂ@md&d@@ﬂ%
9T I ST |

What were the causes that have accelerated
globalization in the late twentieth century ?

BT T BT F B 20 & yars B o
IR N T AT 8% 7

Ts globalization an extension of imperialism’?

‘R AABIOT ETEETE H A e ¥ O?

-

¢ 4

5642

What led to the emergence of the Human
Rights Movement ?

aE SRR STiAleT B S&d & H BROT F 7

Discuss mgm social movements with special
reference to feminist issues.

Arierer Eer & Ay e § arAifeen starert
H AT HifoH |

-Give an account of Environment Movements

in India.
WA H U 9giEaReig ofered @ Al IR
HIfSTa |

Consumerism has brought changes in the
attitudes and values of the people in the 20t

century. Discuss.

SHIERIEE ¥ 20 st F @ B gfedor o
Tt 7 aRecdts fFar ¥ amer 9t

3 " PT.O.
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[This question paper contains 4 printed pages.]

Your Roll No...............
5642
4 <§r. No. of Question Paper : 5649 G
10.Write short notes on any two of the following : Unique Paper Code : 232651
FrefaRea & & el &t W e el fafen Name of the Paper : A Globalizing World
(a) Apartheid . .
. Name of the Course : B.A. (Prog.) Political Science
[ A iRy -
i oo Semester :
(b) Cuban Missile crises _
. I “Duration : 3 Hours Maximum Marks : 75
i Y ;3 e o : 75
(c) Non Co-operation Movement :
ST ST Instructions for Candidates
(d) United Nations Or anizatio
. . & . 1. Write your Roll No. on the top immediately on receipt of
qIFT UsaH o this question paper.
(e) Internet | . 2. Attempt any four questions.
FRe » ‘3. All questions carry equal marks.

4. Answers may be written either in English or Hindi; but the
same medium should be followed throughout the paper.

@.@.%ﬂdﬁ%ﬂ
1 .ﬁuﬁ-ﬂ%i%ﬂﬁﬁﬁ%%ﬂwﬂﬁﬂﬂ
foRag |
2. T8l o v & SR Sfw |
. " 1 .ﬂ%i%ﬁﬂﬂw.

4. T R I IS A R Rt v e ¥ A, A ah
IR ST WEAH Tk & BT i |

4 1800 P.T.0.




5649 2

What do you understand by Globalization ? Analyse

arguments for and against Globalization. r

ASCHERUT & ST T G © 7 SIS B Y v fuw ¥ Ry
S et TR @ e A |

Critically analyse the role of Multinational Corporations
(MNCs) in the global economy. ,

fowa srfeaeen % agua e (MINCs) & et &1 seemes
fweivo FHifw |

Explain the achievements and failures of the United

Nations.
WYFT W, D ITAREN T SN T G0 I |

Discuss the structure and functions of the World Trade
Organization (WTO).

oy MR e € 9@ vE w5 9 aeer SR )

L
¥

Discuss the international agreements and conferences to

solve the environmental problems in the world.

<4

-

05

5649 3

g & wHiaia G @ wnuE B o g Ay wE o
TR & REEE S |

Has Globalization led to increasing inequalities within and

between Nations 7 Examine.

FT SASHHCT ¥ TG B HR TF I WA FEAGAA Hl SGT0
2 7 gdemr W

Discuss the causes and impact of international terrorism.

FAdE FSAE H HRO QF I H R Hifw

- Write short notes on any two of the following :

Faffag & @ ol @t W Sty oot foRaw
(a) Kyoto Protocol
e Wi

(b) G-77
R77
(&' UN Pene Keeping Mission

e PTG
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(d) General Agreement on Tariffs and Trade (GATT)

=

WIeh UF AR el WRE R (Ji)

(2000)

1

23 )2 (s )
[This question paper contains 4 printed pages.]

Your Roll No.cvveeineenen

-

Sr. No. of Question Paper : 5650 G
Unique Paper Code : 232651
Name of the Paper, A Globalizing World

Name of the Course B.A (Prog) Political Science

bg
Semester VI

Maximum Marks : 75

woifer @ 75

Duration : 3 Hours

w3 e .

Instructions for Candidates

1. Write your Roll No. on the top immediately on receipt of
~  this question paper.

2. Attempt any four questions.

3. All questions carry equal marks.

4. Answers may be written either in English or Hindi; but the
same medium should be used throughout the paper.

@@.%@mm@

P - @ e & e By Fuiia e WS sgween

fofag
2. Tl o vl & IR Afkw

P LA
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5650 2 | mm.mc 3

3 W wE & st e ¥y 5.  Throw light on the major environmental issues before the

international community.

4. ﬁﬂu:ﬁﬁﬁ%ﬂ@&m&ﬁﬁw&@ﬂ@mﬂg

TR T AW T & B TR | ST e @ T v e T W v SR |

; Wi i . 6. Discuss the impact of Globalization on poverty.
1. What is Globalization ? Discuss its various dimensions.

; v WHSAIHOT ST AT W T & [Fzemer S |
R w2 7 T A g A R Rt

7. Write an essay on international terrorism with special

2. Examine the role of the United Nations in the present day U eterence fo G711 -
world. ’

: /N & 3Ry ¥of § saiwia siasae W v o foRag |
AT T ¥ g g e @ udeer e | A g

s : b. Write Short notes on any two of the following :
Critically evaluate the role of the World Trade Organization i

in the era of globalization. Fefofag # @ 5= @1 w oftrg oot fofaw

TGO B g0 A fwm IR wisT H qRE A e
AR MY |

(a) Global Warming

g aqoT

Discuss the formation and evolution of G-77.
' _ (b) Decline of Nation State

S-77 & &7 vE IgHE AR iR )
W -TST & g

P.T L.
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[This question paper contains 6 printed pages.]

5650 4
Your Roll No....coersaenas
(c¢) Multi National Corporations . S No. of Question Paper : 6502 G
s Unique Paper Code : 205671
Name of the Paper : Hindi Literature
(d) U N Declaration of Human Rights Name of the Course . B.A. (H)/B.Sc.(H) (DCC/Credit
. Course)
wgEd U T AAANIER O 0=
. Semester - s WD
q
Duration ; 3 hours Maximum Marks : 75
qag ;3 W it ;75

% ot @ foe Few -
L = - @ e & e Ry e FufRa e WS SgEs
feifae 1 ‘
2. | uw AHEE 2

() e & FEEE @ e W R i
et
Wi e @ fadarsl W) Y S (7)
(=) %% gmmﬂq:ﬁﬂmﬂ@a_
Frran

e Ay ¥ N A 87 W A (7)

(1) SRR N HFEUROT TR I e
i P.TO.

(5000)
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J=AAl

‘ .%%%ﬂ%%ﬂ.@ﬁﬂg%_
(7)

2. (%) .aﬁﬂﬁ,ﬂmﬂﬂgﬁ%ﬁaﬂmﬂﬂgﬂaﬂ@mmﬂ
(8)

(=) B A T @ UR W U & SR b (2x8=16)
(1) ¥ Fgen, T A,
a2 AW S-S,
Fee fem & gl 9,

o e &1 T§ |,

ﬁ%ﬁ%%mﬁ_‘
;_ T & qE e g

() = o wRm e R

Aﬁvﬁ%%wﬁmﬂmw,ﬁ&%ﬁ

——

av%%ﬂ%ﬁﬂ%‘

(i)

8

S, |ehe, WY, W T S FRd W BT,

ok w91 g@ G e dfe dRer @A A,

=d o W B BRe, oW W AYST 6 5,

TES R - Wireare, T fawrt weEe

() wfE @ "W IR e w1 s foiaw

(@) ® ag g g A A A A,
qfe 1 WA T I

() UegE 9T & AR I

(iji) R =T @g = AW AwEE T,

AT wifEw T F A w9 weem R
WA H A @ W E A

B wE W o, AT o S IRT

(=) wf& = W qd wiaar @ s ol

(@) ‘smr ¥ w AH B7

(1) = ofeEl @ oS we S
PoT (),
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3.

4

(=) Mmﬁmﬂ,ﬁ%%%ﬂgw@ﬂ (8)

Terar

“ﬂmﬁ.wmwaﬁ_ﬂu@ﬂﬁ@@ﬂ
(=) i&ﬁ%%%ﬂmﬂﬁ&%%%@ﬂ@?@

(1) aﬂzwﬂmﬂﬂﬂm%ﬂe&_wﬂﬁ&@@aﬂw

(2)

R TE C L —

wm%_mmdaﬂﬁ&mwm%ﬁiu%ﬂe%
%ﬂﬁ%&ﬁ%ﬁﬁwﬂiﬂ#%_ﬂ%

FE R, weR D N - e e w3 F

ﬁ%%w.&%w%ﬁ-%ﬁﬂﬂi
iw_mﬁwugﬂgﬁuﬂm&ﬂﬂmﬁq

ﬂﬁ#ﬂ%%ﬁ‘ﬁ_&wgﬂﬂaﬁwﬁﬁwﬁ‘

(i) = =1 R oo @R T T R

(ii) TS Al SUR W wer Rz 9 R
TREF R ® e s w2 - WY
it ’

%&ﬂ@mﬁﬂ%%@@m@%%@ﬂ
?ﬂaﬁ%%ﬂﬂ%%mﬂ-xﬂﬂ%ﬂmﬁ
A BT ¥ TR F R T W R sy

5

6502

¥

%&%%aaﬁ%u@.@%ﬁ@%ﬂ
e 3 < @ e B & e e T A
3w WA ¥ g A I

Eﬁﬂﬁ%_ﬁﬁuﬂnﬁuﬂ@ﬁﬂ

: . s HRm
(i) e e R K g A IS

: Y wm T -
@ oA S W
Hﬂﬂdﬂﬁ%ﬂwﬁ%ﬁﬁémuﬁmﬁ%%& N

. W =
g 3§ BY AANL

o & sEe A T8 Ax fan TS & TE D ﬁm%ﬂa
w%ﬂ%%%ﬁ_aﬂ%%ﬁ%@wﬁﬂ“
- GRS & R we #
- - g . L.
Mﬂﬂ %-ﬂﬂ&%ﬂ,mﬂwmm@mﬂmwmﬂ

(3)

() @ o fiE T R T |
(1) ‘g-o T e AR A S A

= W WM

) (), R AR

T
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d

(i) Tafae @ X Y 9w wiee ¥ frg 1 9w

w0 @ v swhe @k =i

(iii) TER YRE =X 1€ Q7

L

(iv) S8 =7 o? 97 seier W dEaw w g gan?

(@) el & o * I SR

(i) =Ee ¥ MwE = wEEa Y ER 997

(3)

il

(i) e & =R o B X vt w vww ko _

(i) F=T TR T oar?

(iv) e gt ¥ =1 fvlg far sk =) ?

(3}

(3000)

\
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|
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This question paper contains 4 printed pages. .
Your Roll No. .eeeereeeeeieicrencnnee

uc SI. No. of Ques. Paper : 639 G
. Unique Paper Code  : 235686 :
hv Name of Paper : Mathematics IV (Linear

Algebra and Calculus)
" Name of Course - : B.A. (Hons.) Discipline Centered
Concurrent Course
< Semester : VI
Duration : : 3 hours
: gﬁmaas Marks . 75
(Write your Roll No. on the top immediately
on receipt of this question paper.)
Attempt six questions in all, attempting two
questions from each Section.

SecTioN [

Show that the set S= {( 1, 0, 0), (1, 1, 0), (1, 1, 1),
(0, 1, 0)}, is a spanning set of R but not a basis of
R3. _ 4
Let v;=(1, 2, 1), »,=(@3, 1, 5), v;=(3, —4, 7) be
vectors in R, prove that:

span {vy, v,} = span {v;, v,, v3}. 6

Show that intersection of two subspaces of a
vector space is a subspace. Also show union of two
subspaces of a vector space ¥ need not be a
subspace of V. 6

BE O,



2. (a)

(b)

©

3. (a)

(b)

(<)

2
Show that the vectors (1,2,3,4), (0, 1, -1, 4 i
5,1,8), (3,7, 8, 14) in R* are linearly dependent
over R. 6

T:R®-> R?is a linear transformation, the matrix
A of which with respect to standard basis is:—

1-0 1
A=11 1 2
2 1 3

Find a basis for the null space of T and its nullity.6
Solve the system of equations:— |
X1—X+2x3=0
2x;+x,=0
—X1—2x,+2x3=0
by row operations. 4

State and prove parallelogram law in an inner
product space R" and also show that:

llau||=|a| ||u|] Va€ER ueR" &

Verify rank-nullity theorem for linear transforma-
tion T : R* » R3 defined by:

T(x,y,2)=(x,0,0) V (r,y,z) ER? 6

Let L:R*->R? be the lin€ar transformation
defined as:

—LAQT QNV"A&? Ov.
(i) Is(0,2)in ker L?
(ii) Ts(2,2) in ker L?

~5

v)

)

>

4. (a)

(b)

3. (a)

(®)

6. (a)

(b)

3 639
(iii) Is (3,9)in range L?
(iv) Is (3,2)inrange L? 4

Section 11

Prove that the function A(x)=Vsinx is continuous
on —P. ). 6
Let f be continuous on [a, b] and xq, Xy, X3, ..., X,
be points of [a, b]. Show that there exists
cela'b] s t:

Y= o)+ + ... +ox)] )
State Rolle’s theorem and verify for:

JF)=V1-+%in[-1, 1]. 6

Prove that between any two real roots of

€' sinx=x, there is at least one root of

cosx+sinx=e ™. 6

Verify Lagrange’s
function:
JO)—x(x—1)(x—2) in

Show that:
v—u
1+v2

Mean Value Theorem for the

1
Pw 4

<tan'v—tan'ly < log (1+x) < WM.W

if 0<u<v and deduce that:

BT Q.




639 4
T 3 - o |
—t— < it USSR
FELEDT tan uA&+a g
SecTioN 111

7. (8) Using Taylor’s theorem expand x*+x%%—y* in
powers of x—1 and y—1. 5172
(b) Let fbe defined as:
2" (%) #(0,0)
fl,y)=1 4

0 y»=(00
Show that f is continuous at (0, 0). 4

8. Let f: R? » R be the function defined by:
£V (5y)# (0,0
far, )=y
0 ®»=000
(a) Show that limyq limy,o f(x, ¥) and
lim,.,q lim,.,q f(x, y) both exist but are unequal. 4
(b) Isf continuous at (0, 0)? -

9. Find the maxima and minima of the following
functions:—

@) flx, y)=3x"-2ey+y*~8y
®) fx, y)=xy—x*—y* 9112

This question paper voniains 3 printed pages]

Roll No.

S. No. of Question Paper : 9347

Unique Paper Code 12133903 GC

Name of the Paper Machine Translation : Toolsand _
Techniques

B.A. (Hon.) Ability Enhancement
Elective Course (AEEC)

Name of the Course

Semester S \'

Duration : 3 Hours Maximum Marks : 758

(Write your Roil No. on the top immediately on receipt of this question paper.)

ﬁﬁuﬂjﬁaﬁﬂw%mﬁmﬂﬁw&mﬂﬁ]ﬁﬁﬁﬁwﬁﬂ%:
Note -—  Unless otherwise required in m.nmmmzo:u aswers should be
writte in Sanskrit or in Hindi or in English but the same
: medium should be used throughout .%m paper.
Froquft ;T YA T EF W 3 Y-S H S HEHA
o e o oSt fRe wE oW # ST, g
it yedl w1 WeAW TE @ e Al |

L T omeR @ fafye ofeml W AUA IS5
Describe the various components of Machine Translation.
Or
Wi oER F1 ghe ¥ WA T U @ET A
FT gAY |
Describe the Source Language AwE and Target Language (TL)

in term of Machine Translation.

N



2

!.o)

( 2 ) 9347

T STgass &1 famr @ &y sifg 15
Describe Google Translator in detail.

3Teqar

A, Or

e ® fam AARH HT famrR § gof
wHiforg | _
Describe Bing Translator of Zﬂnaowom in detail.
W ogaR. w1 Haw d wdew YA SIfT 115
Give the brief survey of Machine Translation,

Hgan

8 or -

W sER # fEE e Ry w T e
frery fofe ‘

Write a detailed essay on w:._o-cmmwa method of Machine

Translation. :
W SR # eemen T wiwR @ e
St et o 15
_Qm_.:u.,\ the ambiguity and acceptability in Emﬁ::m Translation.
rerdr
o |
Wi o % fafe=s =i @ seorm B W
HifS |

Describe the’ various steps of machine translation in detail.

-~

) 9347

(=]

(
emfetad o A TRl € W gam 4 feoh fafew
2x75=15
() HAEE T HEAl SR
Gy i odmﬂ F1 g et fafy
(jiiy A& 4l
(v) BRI
Write short notes on any o of the following
(/). Human Vs. Machine Translation
(i) Example-based Method of MT
(iif) Target Lanaguage

(iv) - Lexicon.
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Roll No.

S. No. of Question Paper : 1987

Unique Paper Code T 72182801 GC-4
Name of the Paper . Environmental Science
Name of the Course . Ability Enhancement Compulsory

Course (AECC-1)
Semester N
Duration : 3 Hours Maximum Marks : 75
(Write vour Roll No. on the top immediatele on receipt of this question paper.)
(389 791 T3 & faem & 3R Gy fFAuife o w 9w sqwws fafan o)
Note :—  Answers may be written either in English or in Hindi;
but the same medium should be used throughout the
paper.
fewult :—z8 wo7-w3 %1 s S W fat et ww W
q dIfSw; @fe 99 s @ wew T @ e
—
T:|||'_"Gl! |

=

Attempt any five questions.

All questions carry equal marks.
fF=l ura wol & ww S
Al Y & % §uE

52 410 ]



1987

(@  Fill up the blanks (h)

(i)  World Environment Day is celebrated on .

resrisraiaa,

(i) Network of food chains is called

(iil)  An example of renewable source of energy ...

.......................... is a Hot Spot in India.

—-
|
ﬁ"

.......... seressanaa,

is a National Park in India meant for

conserving Rhinoceros.

(245 — e

..... ——_ sedimentary biogeochemical

cycle.

(vit) Ozone layer depletion

is caused by ...

(VEEQ) oo, is an ecological pyramid which is always

b £ 9
upright. -

(X)L -+ is a book published by IUCN

containing the data of endangered animals and

plants.

(x)  The global action plan adopted at Earth Summit

at “Rio de Janeiro™ in 1992 is also known 7 § W

10x1=10
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Define the following terms (any five) :
(i)  Eco-friendly
(i) Endemic and Key stone species
(iii) Sustainable development
(iv) Biosphere
() _>oa rain
(vi) Deforestation
. ol
(vii) E-wasle. . 5x1
e wm ﬁm_,.ﬁ :
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. (vi) mu:HH,mE
gl |
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(viii) T WeR qiastg frafae 3
€ S TR 2 Write short notes on any three
AR Bar ¥ AR
,_ (@)  Greenhouse Gases
T.Hv .................. mu..ﬂ. % w o i |
& 3 d T Sm.wm_ﬂ ESESICE (h) Threats to Biodiversity
(I 7, . |
% . T.) g0 YHIRE Th , . (¢) Biosphere Reserves
3x5=15

(ch Montreal Protocol.
4 el A W EiE feopoit fafEw -
e =, (%) T
(@) Safataum +  fag e

T & e deerm Sad eiR et
(x) 1992 & “f d SAfE" & Hea awier

(s wfe) & whopn A wr A
. (1) Savea omfed A3

(@) frfafan = ofwm @ (#E @) (o), wilig: STt
following (any three)

3.~ Ditferentiate between :.a

() IIEO-ATHA ‘
(i) e @w_u_M | oo gwiaat . : @
i) Feeta fawm

() In-situ and Ex-situ conservation

(iiy ~ Fresh water ecosystem and Marine eccosystem

BT,
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(7if)  Biodegradable and Non-biodegradable waste

()  Biotic and Abiotic factors. 3x5=15

Frfafe & s e

() - 7RIS SR afggw wram

TS S aRed R W e wifs

(i) SE i i o it sfms

(v) ety 3R STy hHF |

(¢)  Elaborate briefly on the role of Biodiversity in providing
different services to the mankind. 7

(5)  What are the causes of Global Warming ? Discuss iis

effects on the human communities and agriculture, §
(%) 5 S H1 YW w7 et e S
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(h) Disc
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recurrent floods in Indian plains.
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caused by earthquakes
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(«)  Describe the causes of air pollution in Delhi. What steps
should be taken by the government to control the air
pollution ? 8

(h)  Construction of dams is a problem to the biodiversity

and local tribes. Discuss giving any one example from
india. What are the measures that should be undertaken
to overcome this problem ? 7
(%) feeelt § @M WgUW ® HRON H AU FIGT
g wgou & frEm & fau R g

Feq I2W W =fsC ?

(@) a et S -fafaem it v S
% fou wH wmEw ¥ z@el faeEwm ¥R W
T ISR SER HIWO | T wEE ® R
% fou FF@ S9SN SR Afew ?

(@ Briefly discuss the differences between  renewable and

non-renewable sources of energy. Explain the positive
and negative aspects of using Nuclear energy as an

alternate source of energy.
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() Taking an example of any environmental movement,

discuss its role in conservation of biodiversity and

environment protection. 7

(F) ol & AN SR SHARE Uil % Hed
S W AT F T SR et @ At
g & dR W AR S e R
HHNHE IR THRHF 98l & T wifeg|

m@viﬂdﬁﬂﬂmﬂ_ﬁﬁwﬁmﬂﬂsﬂﬂmﬂw
Tu Sa-fafaym & W&o SR w@ERw & e
H zoat ufgsw & fagem Hif)

(¢  Discuss the role of industrialization in cities as a source
of pollution and give any rwo measures that had been
taken to control its effects. 8
()  What are oil spills ? How do they contribute to marine

Y

pollution ? 3
(¢)  Give any /wo health problems due to prolonged exposure

to noise pollution. 4
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